(_d 1200 New Jersey Avenue, SE.

Washington, DC 20590
U.S.Department September 17, 2008
of Transportation

Federal Highway
Administration

In Reply Refer To: HSSD/CC-88B

Mr. John C. Durkos

V.P. Technical Support and Marketing
Road Systems, Inc.

3616 Howard County Airport

Big Spring, TX 79720

Dear Mr. Durkos:

This letter is in response to your request for Federal Highway Administration (FHWA)
acceptance of roadside safety devices for use on the National Highway System (NHS).

Name of devices: Sequential Kinking Terminal (SKT), and
Flared Energy Absorbing Terminal (FLEAT) with 2 Breakaway Posts
Type of devices: W-Beam Guardrail Terminals
Test Level: NCHRP Report 350 Test Level 3
Testing conducted by: Midwest Roadside Safety Facility
Date of request: April 22, 2008

You requested that we find these devices acceptable for use on the NHS under the provisions of
National Cooperative Highway Research Program (NCHRP) Report 350 “Recommended
Procedures for the Safety Performance Evaluation of Highway Features.”

Requirements

Roadside safety devices should meet the guidelines contained in the NCHRP Report 350 FHWA
Memorandum “Action: Identifying Acceptable Highway Safety Features” of July 25, 1997,
provides further guidance on crash testing requirements of longitudinal barriers.

Description

The SKT and FLEAT have been successfully crash tested and accepted by the FHWA, most
recently in FHWA Acceptance Letters CC-88, dated March 8, 2005, and CC-88A, dated June 1,
2008. The use of one anchor post, seven additional breakaway posts and subsequent transition to
standard line posts were the same in these two w-beam guardrail terminals. Recent full scale
crash tests have demonstrated that an 820C vehicle can safely ride down full strength W6x9 steel
line posts. Your present request is to replace the last six breakaway posts in these terminals with
these standard W6x9 line posts.

ooy i & HE sm——sy
AMERICA
ECONOMY |




Crash Testing

In order to evaluate the safety performance of these new designs, three full-scale crash tests were
conducted on the revised FLEAT terminal design. NCHRP recommends a total of up to 7 full-
scale crash tests for gating guardrail terminals. We concur that only 3 of these tests are needed
to verify the safety performance of the proposed new terminal designs, as summarized below.

Test 3-30 involves an 820C vehicle striking the end of the terminal at a speed of 100 km/hr with
Y4 offset and an angle of 0°. Because this test may allow the small car to strike a full strength
line post, it is necessary for verification of the safety performance of the new terminals. Previous
testing has shown that the small car engages more guardrail posts during tests of the FLEAT than
during tests of the SKT. Hence, this test should be conducted on the FLEAT terminal in order to
maximize the risk of failure.

Test 3-31 involves a 2000P vehicle striking the end of the terminal at 100 km/h and 0°.
Numerous full-scale crash tests have shown that the 2000P vehicle is capable of riding down full
strength guardrail posts. Further, the results of test 3-30 will provide a much better indication of
the consequences of a vehicle striking an unmodified line post. Thus, Test 3-31 is not necessary
for evaluating the performance of the new terminal designs.

Test 3-32 requires an 820C vehicle striking the end of the terminal at 100 km/h and an angle of
15°. Historically the third post in a tangent energy absorbing terminal has not been broken
during this impact. The only thing that changed upstream of post #3 from the system that was
approved previously is upper post #1. However, the behavior of this post will be more
thoroughly explored in test 3-30 than in test 3-32. Therefore, we concur there is no need to
conduct this test.

Test 3-33 incorporates the same impact conditions as test 3-32 with a 2000P vehicle. This test is
not necessary for the same reasons that Test 3-31 is not required.

Test 3-34 involves an 820C vehicle striking the terminal at its critical impact point at a speed of
100 km/h and an angle of 15°. Because the vehicle can snag on posts 3 and 4 during this impact
the new terminals need to be evaluated under this test condition. The flare of the FLEAT
terminal effectively increases the impact angle for this test by approximately 6°. This test should
be conducted. The increased effective impact angle makes testing of the FLEAT terminal more
critical than a test of the SKT.

Test 3-35 examines the safety performance of the terminal for impacts at the beginning of the
length-of-need. This test involves a 2000P striking at the beginning of length-of-need. The flare
on the end of the FLEAT produces a more critical impact and this test should also be conducted
on this terminal.

Test 3-39 involves a 2000P vehicle impacting the midpoint of the terminal in a reverse direction

at a speed of 100 km/h and an angle of 20°. As mentioned above the 2000P test vehicle has been
shown to be capable of riding down a full strength line post without posing serious threats to the

occupants. Hence this test is also considered to be unnecessary.



The test data summary sheets for the three recommended crash tests, FLT2P-1 (Test 3-35),
FLT2P-2 (Test 3-34), and FLT2P-3 (Test 3-30) are enclosed for reference. In test FLT2P-3 there
was a small hole in the floor pan caused when the nearly-stopped vehicle came to rest on the end
of a guardrail post that was under the vehicle. We concur that this does not pose a significant risk
to vehicle occupants. Otherwise, all occupant risk parameters of NCHRP Report 350 were within
recommended guidelines. We concur that this testing shows acceptable performance for both
FLEAT and SKT terminals when modified as described.

Findings

The modified FLEAT and SKT terminals described above and detailed in the enclosed drawings
are acceptable for use on the NHS under the range of conditions tested, when acceptable to a

highway agency.
Please note the following standard provisions that apply to FHWA letters of acceptance:

«  This acceptance is limited to the crashworthiness characteristics of the devices and does not
cover their structural features, nor conformity with the Manual on Uniform Traffic Control
Devices.

« Any changes that may adversely influence the crashworthiness of the device will require a
new acceptance letter.

» Should the FHWA discover that the qualification testing was flawed, that in-service
performance reveals unacceptable safety problems, or that the device being marketed is
significantly different from the version that was crash tested, we reserve the right to modify
or revoke our acceptance.

*  You will be expected to supply potential users with sufficient information on design and
installation requirements to ensure proper performance.

«  You will be expected to certify to potential users that the hardware furnished has essentially
the same chemistry. mechanical properties, and geometry as that submitted for acceptance.
and that it will meet the crashworthiness requirements of the FHWA and the NCHRP
Report 350.

« To prevent misunderstanding by others, this letter of acceptance is designated as number
CC-88B and shall not be reproduced except in full. This letter and the test documentation
upon which it is based are public information. All such letters and documentation may be
reviewed at our office upon request.

«  The FLEAT and SKT end terminals are patented products and considered proprietary. If
proprietary devices are specified by a highway agency for use on Federal-aid projects, except
exempt, non-NHS projects, (a) they must be supplied through competitive bidding with
equally suitable unpatented items; (b) the highway agency must certify that they are essential



for synchronization with the existing highway facilities or that no equally suitable
alternative exists; or (¢) they must be used for research or for a distinctive type of
construction on relatively short sections of road for experimental purposes. Our regulations
concerning proprietary products are contained in Title 23, Code of Federal Regulations,
Section 635.411.

» This acceptance letter shall not be construed as authorization or consent by the FHWA to use,
manufacture, or sell any patented device for which the applicant is not the patent holder. The
acceptance letter is limited to the crashworthiness characteristics of the candidate device, and
the FHW A is neither prepared nor required to become involved in issues concerning patent
law. Patent issues, if any, are to be resolved by the applicant.

Sincerely yours,

David A. Nicol
Director, Office of Safety Design
Office of Safety

Enclosures



s.boz>s.681/-

S/W ¢T > S/W €G-

WealjsuUMop W 0'zz

€ "ou 1sod Jo sul4aIuB)
saa.bop 792

99S BEE'0

N ——

wweg "ottt uoljewlola@ wnwixe
PMILY-TO " 9a9
€-OH4Y-TO ~ San

aletspoly e abeweq a|o1ysA
wweg'p "t LPIAN Buiopn
WW pQp' *rr alWweuAQg
wwooy't " 195 JUBURWIdd

suonda|jaq 8|1y 1581

QIRISPOIN Tt abewreq a1y 1591
sbhgey- (pasinbau j0u) esare

[eurpnyibuoT
uoIneIa[dad UMoQ apiy uednaoQ
(pasinbau jou) Jeisre]
....... [eutpnibuo]
Ao0j9\ 19edW| WednaoQ
aouesi@ Buiddols

swggg- "y

Aojoeysies ANNIGeIS BIIIYBA
Aio108fes ] 10edwi-1sod

S uoLaIID X0g NXJ

wwwhmwu H.wN ........................... w_mc<

Yupgy paads

-

suonipuod 1x3
uoI11e207 10edw|
31buy
paads
suonpuo) 1oedwj

U/ ¢°L6

B3 z10'C

B3 ZT0'C

B3 500'2

ona dnxoid 005D 18104A8UD T66T
d000Z

(066T) S9-/tT IN OLHSVV-4 Buipeis
palnoJ Buoj ww g9€ X Ww £0Z X Wl ZST

ww S06'T
Buol ww 6z8'T AQ ¥°ETXZSTM

ww G06'T
wonoq g¢dH pue dol edH
T-dH

peay 10edwi 13714

w T8¢

[eUllWIB] pug 1w 150d OM L
ge-¢g

1002/62/TT

T-dg114

2118]S SS0I9
lelau] 3sa L
qind
ISPOINl pue x|
uonreubiseq/edA L
3I2IYsA 1S9 L
[10S jo adAL
6T-€ "SON 1sod
$300]g Jadeds poopA - swa|3 Ay
Buioeds
6T-€ "SON 1sod
S1S0d |991S - uawa|3 Aoy
Buioeds
¢ 'ON ¥sod
T 'ON 1so0d
S1S0d |991S Aemeyjealg - uswa|3 Ao
wbieH Bununoy do
SSaUXOIYL
weag-pA |991S - Juawis|3 Ay
Juswa|3 Aoy
yibua resoL
doueuanddy
uonreuBisa@ 1581 0GE dHHON
aleq
Jaguinp 1881
Aouabyy 159

S 9GT'0

995 9G0°0

dz114 "ON 1581 ‘sydeiBoloyd [enuanbasg pue synsay 1S9 Jo Arewwns




995 88E°0

ww zot
6M3IAY-TO
7-044-T
9]eI9pPOIN
ww 08
ww z6S
ww 9y

9]eI9POIN
s.boz>s.600TT-
s.6 0z >s.6 09'g-

S/W ZT > S/W 06°S-
S/W ZT > S/W T9°G-

s.6 0z >s.6 98-
s.B 0z >s.6652-

S/W ¢T > /W 8G'S-
S/W ZT > S/W 68°S-

apIs-dljeny W g'g
WeaIsumop W 9'9g
Aloyoejsites

ssed
sealbop G'€T

y/wA T'¥9

NI

.............. uonewIoed WNWIXeA|
............................. a0
............................. San
....................... OUGEGD O—U_£w> .
UIPIA Buriopn
.......................... O_EMC>D
..................... 1S JUBLELLIAY
suonos|jeq 9PV 1591 e
..................... OOGEGD 3oV 159 @
........................... esareT
....................... _MC_UDH_@COI_

(SL1Q@) uonels|adag umoq aply uedndadQ e
........................... [esa1eT
....................... _MC_UDH_@COI_

(s1a) Auo0jaA 19edw] uedn22O @
........................... esareT
....................... _MC_UDH_@COI_

(e-4@3) uonels|ada@g UMoq aply uedndadQ e
........................... [esareT
....................... _MC_UDH_@COI_

(e-4@3) A20j9 10edw] JURANDOO @

aouessig Buiddois
Anjigels ajo1ysa
Aio10ales] 10edwi-1s0d
.................. UoLIBIID X0g X3
............................ w_mc<
............................ Umwam
SUOIIPUOD UIXT e

dcl’l

W09 '9¢

4 ‘0N 1591 ‘sydeiboioyd Jenusnbas pue synsey 1se] Jo Alewwng
¢ 'ou uwoa josulpeue) uoledn] Huma_.:_
wwmhmw—u MNN ....................... w_m—‘_ds
S\EV_ ooo.—” ....................... waﬂm
suonipuo) 19edw|
@v_ PT6 " O_“—muw S$s019)
BTy [eraul 1581
@v_ Ppg QLDO
ONIBIAI 18]0JABYD 000Z “ "7 [3POIAl pue 8B
o028 " uoneubiss@/edA L
8I01U3A 1581
(066T) G9-LFT W OLHSYY-g Bulpel = wrrrrsrs e [10S jo adA 1
pa1noJ Buoj WW Z9E X WW €0Z X WW gGT "~~~ """ " e 6T-€ 'SON 1S0d
$)20]g J99edS POOAN - JuBWa|g Aa)]
ww mom..—” ..................... @C_Umaw
Buoj ww 628'T AQ 'ETXZGTM ~ """ 6T-€ 'SON 150d
S1S0d [991S - 1uawa|3 Aoy
ww mom..—” ..................... @C_Umaw
wonoq gedH pue dorwgdH ~ Z "ON 1s0d
b« 1 "ON 150d
S1S0(d [991S Aemexealg - Juswis|g Ao
wwooL "t wbB1eH Bununo doy
Ty TR A, SSOUNOILL
Wwreag-AA [991S - Juswia|g Aa))
E me ..................... —\_umcwl_ _@“—OI_I
Jeulwia] pug Jv3i1d4isodomg -t wocmcwt:aa(
4 uonreubisaq 1581 0GE d4HON
QOOZIET[Z """ et o
Tdeld 13quinN 1881
H_mmg_\‘ ..................... \AOC@@( wwml_l
385 0000




uolesauad

Aq

J9S

€-d211d 'ON1sal .mcgmhmoaocn_ _m_ucoscmw pue synsay 1s9] Jo Arewwng
ww g "o uoIewIofed WNWIXe peaH 10edwj [eulwidl pug 1314 uoI1e207 10edw|
.V\SMDHTNH ............................ OOO mmm‘_mmv w.o ...................... m_mc<
mloﬂ_lNH ............................ wD> E\Ev_ @.@@ ...................... UOOQW
PJe0QJOO]) ‘BJRIBPOIN " T abewreq 3[0IYsA @ suonipuo) 1oedwj
Wea1SuMop W /'g @v_ 9o "t 2118]S SS0I9)
Oﬁ_w o_t.m._uncoc Wgig " cuU_>> Oc_v_._0>> @v_ pEg T _m_tmc_ 159
ww wmm.w ......................... O_Emc>ﬂ @v_ ZEQ e qn)d
U e 1S JUsUBWLISd 1B 19J0IABYD 000Z T [SPOIN pUE el
SUOIY3IY3Q BPIUY 131 @ 20¢8 " uoneuBise@/edA L
AIRIOPOIN Tt abeweq 3|01V 1531 @ 3|9IYaA 1591
w.@ 0z > m.@ QZ'Q- e _G.‘_w”—ml_ AOO@HV G9-/¥T IN OLHSVV-9 @C_Umgo ..................... [10S JO wQ\An_n
w.@ ON > w.@ PTYT- " _MC_UDH_@COI_ UOHSO._ DCO_ WW Z9E X WW €02 X WW gGT """ " e 6T-E "SON 1s0d
(S1@) uoneisj@da@ umoq apiy uednddO e $320]g Jadeds poopA - uswa|3 Aoy
S ZT SSWTEQ =~ " e [esae] ww mom_._” ..................... Dc_omam
S ZT > S/W Q7 L- "t _MC_U:”—_@COI_ @CO_ ww me.H >Q PETXZSTM " " 6T-€ "SON 150d
(s1a) Ao0ja 10edw| Wedn22O e S1S0d |991S - 1uawWa|3 Ao
w.@ 0z > m.@ QG- " [esae] ww mom_._” ..................... Dc_omam
w.@ 0z > w.@ GZIET- "ttt _MC_UDH_@COI_ wonoq g&dH pue QOH WadH Z "ON 150d
(e-"@3) uoneis|soag umod apry uednddo e T-dH " T "ON 1s0d
m\C._ 21> w\E 8O0 e _w.‘_mU—MI_ $150d _wwuw >m>>.mv_.mw\_m _ HCQC«_O_M \Amv_
S ZT S S/W L f- “t e _mC_—u:u_@COI_ wwogL "ttt ur_m_w_l_ DC_HCDO_\/_ Qol_n
(e-4a3) A190joA 10edW| JURANIIO @ WW JQg "t SSaUMIIY_L
WeaISUMOP W 9g'G """ aoueysiq buiddols weag-pA [991S - Juawis|3 Aay]
\ALOHO@%W_me ................... \AH___QGHW D_U_F_®> E H.wm .................... Eﬂmcwl_ _mHO|_|
Aioyoales] 10edwi-1s0d e [UILLIBL PUT IV T4IS0dOM] ~ "t doueuaunddy
70 uolLID Xog UX3 og-¢ " uoneuBisaQ 181 0S¢ d4HON
M\C ........................... O_UC< wOON\HH\m ........................... QHGD
BJU "t Ummaw C-dzlg " JaquINN 1591
WCO_H_UCOU H_xm ° H_mm\SE .................... >QC®@< Hmwl_l
iz 0z 6 @ Lk 9l Gl %L €Lz Lol 6 8 L g g L Nmm :
¥ ¥ ¥ ¥ Y ¥ ¥ ¥ ¥ ¥ Y ¥
78S 28S 2€0°0 J98S

¥8¢°0

0000




ITEM |QTY BILL OF MATERIALS ITEM NO.
12'—6" SKT Terminal 25" (6X9 Steel Posts Required in this Region) A | 1 |IMPACT HEAD S3000
B 1 | W—BEAM GUARDRAIL END SECTION, 12 Ga. | SF1303
S S S . . I o C | 1 | FIRST POST TOP (6X6X3" Tube) TPHP1A
6 -3 6 -3 . 6 -3 _ 6 -3 1 6 -3 _ 6 -3 1 D | 1 [FIRST POST BOTTOM (6' W6X15) TPHP1B
_._ﬁ_ %_ _“_ %_ _ E 1 | SECOND POST ASSEMBLY TOP HP2A
== Te ol T .= F 1 | SECOND POST ASSEMBLY BOTTOM HP3B
G 1 | BEARING PLATE E750
End of P _.m:@m:ﬁ oﬁ_zmﬂ_u_ m:a H | 1 | CABLE ANCHOR BOX S760
nd of Fayment for Instafiation PLAN J | 1 | BCT CABLE ANCHOR ASSEMBLY E770
|_|_N>_|I_|I_O HARDWARE (ALL DIMENSIONS IN INCHES)
|'
a 2 |5/16 x 1 HEX BOLT GRD 5 B5160104A
End of Payment b | 4 |5/16 WASHER W0516
H, m(8), n(8), o(16 :
ﬁ A v A v A M for Installation R 2 [ 5/16 HEX NUT NO516
d 9 | 5/8 Dia. x 1 1/4 SPLICE BOLT (POST #2)| B580122
@ @ @ @ @ @ e 1 |5/8 Dia. x 9 HEX BOLT GRD 5 B580904A
B f 3 | 5/8 WASHER w050
@/ A g | 10 [5/8 Dia. H.G.R NUT NO50
=== h 1 | 3/4 Dia. x 8 1/2 HEX BOLT GRD A449 B340854A
q o = et = i = j 1 | 3/4 Dia. HEX NUT NO30
||||| _ 1 Il Il k 2 |1 ANCHOR CABLE HEX NUT N100
= .J/@ | 2 |1 ANCHOR CABLE WASHER W100
Il m 8 | CABLE ANCHOR BOX SHOULDER BOLT SB58A
\@ ﬂ@!@v n 8 |1/2 A325 STRUCTURAL NUT NOS55A
mg/ J o 16 |1 1/16 OD x 9/16 ID A325 STR. WASHER | WO50A
L2 GENERAL NOTES:
Soil Plate on 1. All bolts, nuts, cable assemblies, cable anchors and
Downstream Side FLEVATION bearing plates shall be galvanized.
— 2. The lower sections of the Posts 1&2 shall not protrude
more than 4 in above the ground (measured along a 5' cord).
Site grading may be necessary to meet this requirement.
3. The lower sections of the hinged posts should not be driven
with the upper post attached. If the post is placed in a drilled
hole, the backfill material must be satisfactorily compacted to
prevent settlement.
& _.W_ % 4. When competent rock is encountered, a 10" @ post hole,
| - _,m_”_ _.w_ 20 in. deep cored into the rock surface may be used if
=l L approved by the engineer for posts 1&2. Granular material will
be placed in the bottom of the hole, approximately 2.5" deep
L O to M#.. Rail Offset Over 50° to provide drainage. The first two posts can be field cut to
0 to 18" Rail Offset Over 37.5 length, placed in the hole and backfilled with suitable backfill.
O _U._|_ O Z>_I _|I_I>_N _MU _Z m|_|>_l_l>|_|_ O Z The soil plate on post 1 may be trimmed if required.
] . 5. A site evaluation should be considered if there is less than
25:1 maximum flare rate 25' between the outlet side of the terminal and any adjacent
driving lane.
6. The breakaway cable assembly must be taut. A locking
device (vice grips or channel lock pliers) should be used to
prevent the cable from twisting when tightening nuts.
o
G d, g, f
> )2 0
N
N
m . Sheet:
+ SKT Terminal |
e g, f(2 | Metric Height e
) 04/17/08
, , : : 2 Post System o
Post #1 Connection Detail Impact Head Connection Detail Road Systems, Inc. y JRR
] ) rawing Name: Scale: Rev:
Post #2 o B a1 SKT2P-S None 0




6'—3" 37'—8" Straight Flare

Rail Exit on

ITEM |QTY BILL OF MATERIALS ITEM NO.

A 1 | IMPACT HEAD F3000
B 1 | W—BEAM GUARDRAIL END SECTION, 12 Ga. | SF1303
C 1 | FIRST POST TOP (6X6X3" Tube) TPHP1A
D 1 | FIRST POST BOTTOM (6° W6X15) TPHP1B
E 1 | SECOND POST ASSEMBLY TOP HP2A
F 1 | SECOND POST ASSEMBLY BOTTOM HP3B
G 1 | BEARING PLATE E750
H 1 | CABLE ANCHOR BOX S760
J 1 | BCT CABLE ANCHOR ASSEMBLY E770

HARDWARE (ALL DIMENSIONS IN INCHES)

a | 2 [5/16 x 1 HEX BOLT GRD 5 B5160104A
b | 4 [5/16 WASHER W0516

c | 2 [5/16 HEX NUT N0516

d | 9 [5/8 Dia. x 1 1/4 SPLICE BOLT (POST #2)| B580122
e | 1 [5/8 Dia. x 9 HEX BOLT GRD 5 B580904A
f | 3 |5/8 WASHER WO050

g | 10 [5/8 Dia. H.G.R NUT NO50

h 1 3/4 Dia. x 8 1/2 HEX BOLT GRD A449 B340854A
i | 1 13/4 Dia. HEX NUT NO30

k | 2 [1 ANCHOR CABLE HEX NUT N100

I | 2 |1 ANCHOR CABLE WASHER W100

m | 8 | CABLE ANCHOR BOX SHOULDER BOLT SB58A

n | 8 [1/2 A325 STRUCTURAL NUT NO55A

o [ 161 1/16 OD x 9/16 ID A325 STR. WASHER | WO50A

GENERAL NOTES:

1. All bolts, nuts, cable assemblies, cable anchors and
bearing plates shall be galvanized.

2. The lower sections of the Posts 1&2 shall not protrude
more than 4 in above the ground (measured along a 5' cord).
Site grading may be necessary to meet this requirement.

3. The lower sections of the hinged posts should not be driven
with the upper post attached. If the post is placed in a drilled
hole, the backfill material must be satisfactorily compacted to
prevent settlement.

4. When competent rock is encountered, a 10" @ post hole,
20 in. deep cored into the rock surface may be used if
approved by the engineer for posts 1&2. Granular material will
be placed in the bottom of the hole, approximately 2.5" deep
to provide drainage. The first two posts can be field cut to
length, placed in the hole and backfilled with suitable backfill.
The soil plate on post 1 may be trimmed if required.

5. The breakaway cable assembly must be taut. A locking
device (vice grips or channel lock pliers) should be used to
prevent the cable from twisting when tightening nuts.

30" to 48" Traffic Side
Length of Need and
End of Payment for Installation
PLAN
TRAFFIC
—
(H,_m(8), n(8), o(16) End of Payment
for Installation
mw @ ® @ ® ®
A RRC.
’ — M |
; o—
o_ o CONIE)
YA - - = =
| Downstream Sice ELEVATION
o
(d. g, D G
% : P
Ip]
— o
, * e, g, f(Z2
SO\
Post #1 Connection Detadil Impact Head Connection Detail
SECTION A-—A
Post #2

RSF

Road Systems, Inc.

Big Spring, TX
Phone: 432-263-2435
or Phone: 330-346-0721

Sheet:

FLEAT Terminal 1

Metric Height Do

04/17/08
By:
2 Post System JRR
Drawing Name: Scale: Rev:
FLT2P-S None 0




